
qm=;+= cfof]hgf tyf sfo{qmdx? :yfg  /sd

1 g]=/f=k|f=la ;'Afaf 6f]n tf/jf/ j8f=g+=! 200000

2 k|;+zf dG8ln tf/af/ j8f=g+=! 100000

3 j8f sfo{no sd{rf/L sDKo'6/ tflnd j8f=g+=! 150000

4 o'jf :j/f]huf/ sDKo'6/ tflnd j8f=g+=! 150000

5 dlxnf :jfM :jod ;]ljsf k|f]T;fxg j8f=g+=! 50000

6 ufpF 3/ lSnlgs ejg -kfvf kfgL / /h]gf j8f=g+=! 600000

7 dfla sf8f3'jfgL tf/af/ j8f=g+=# 500000

8 dfla wf}nfrfvf lkmN8 dd{t j8f=g+=# 500000

9 j8f g+= $ j8f sfo{Nfo zf}rfno lgdf{0f j8f=g+=$ 200000

10 dlxnfx?s]f l;kd'ns sfo{qmd j8f=g+=$ 200000

11 a8fs8] rf}t/f lgdf{0f j8f=g+=$ 50000

12 /lxgf 6f]n ;fljs % vfg] kflg dd{t j8f=g+=$ 100000

13 hUuf vl/b j8f=g+=^ 1000000

14 sdf{rf/L Ifdtf clea[l4 j8f=g+=^ 150000

15 :jf:Yo :jod ;]ljsf k|f]T;fxfg j8f=g+=^ 50000

16 sf8fkf]v/L j8frf}/ vfg]kfgL  j8f=g+=@ 200000

17 s}gvf]nf afbfzfnf /xs'n vfg]kfgL  j8f=g+=@ 500000

18 sf8f kf]v/L lnkm\6 vfg]kfgL j8f =g+=@ 750000

19 kftLxfNg] 3]nkfgL sfpnfd]nf tlnufp vfg]kfgLj8f =g+=@ 500000
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